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n T={a, a, -~ a,} 2"
@
2 A B AUB
0 {0}=9

(@ acq{a,b,c}
®) {a,b}e{ab,c}

4 {ab.{a,b}}={ab}

O x—3<0
X+2

)

3) 0 1

(4) sinxcotx=0

(1) AN(BUD)=(ANB)U(AND)

) (AUB)® = A°NB°

(1) AUB=AUC = B=C
(2 ANB=ANC = B=C

?
(1) x€ ANB < x€A X€B
(2 x€ AUB < x€A X€B
1.2
1. S={a By} T={ab,c} f S—>T?

2.(1) [a,b] [0, 1]



@ (0,1)  (-o0,+0)
3. f g

1) y=f(u)=log,u, u=g(x)=x>-3;
) y= f(u)=arcsinu, u=g(x)=3"

() y=f(u)=+u*-1,u=g(x)=-secx
x-1
X +

@ y=f@u)=+vu,u=g(x)=

(1) y =arcsin 2y =%|0§Jag(><2 -1)

X°+1

(1) y=Ilog,sinx a>1
(2) y=+/cosx
(B) y=v4-3x-x*
@ y=x+
y=X +X4
6. f g
(1) f(x)=log,(x*) g(x)=_2log, X
(2) f(x)=sec’x—tan’x, g(x)=1

(3) f(x)=sin’x+cos”x,g(x)=1

7.(1)  f(x+3)=2x>-3x*+5x-1, f(X)

2 f( X j_3x—1 £ (x)

x-1) 3x+1’

1
8. f =——, fof fofof fofofof
(x) 1+ X
9. (—00,+0)
10. ABCD y = f(x) A=(0,3)

B=(1-1) C=(32) D-=(40)



1. f(x) 1.2.8 y=f(x), xe[0, 2]
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13. [0, 1] [0,1] [0, 1] [0, 1]



